Stat-day 4 - Probability


Start of Block: Default Question Block


Q1 Please submit your full name
________________________________________________________________

End of Block: Default Question Block

Start of Block: Block 6


Q20 Timing
First Click  (1)
Last Click  (2)
Page Submit  (3)
Click Count  (4)




Q27 we have collected weather data of Baton Rouge in december 2019 to make predictions about next december. what is the simple event for the following sample space? {rainy, snowy, cloudy, sunny}
having a sunny day  (1) 
having a sunny and cloudy day  (2) 
having snowy, sunny and cloudy  (3) 
all the above  (4) 

End of Block: Block 6

Start of Block: Block 7


Q10 Please wait here until be told to go to the next question.

End of Block: Block 7

Start of Block: Block 5


Q33 which of the following is a classic probability?
from rolling dice for 6 times, we have got 2 of "1", 3  of "2" , 1 of "6". the probability of getting 5  (1) 
the probability of passing a statistics course  (2) 
the probability of getting 3.8 GPA  (3) 
the probability that an individual in your class is single given that someone either could be married or single or divorced  (5) 
Based on past observation, a manager believes there is a three-in-five chance of retaining an employee for at least one year  (7) 

End of Block: Block 5

Start of Block: Block 4


Q14 Please wait here until be told to go to the next question.

End of Block: Block 4

Start of Block: Block 6


Q18 Timing
First Click  (1)
Last Click  (2)
Page Submit  (3)
Click Count  (4)




Q31 
Which of the following is correct about the sets of outcomes described below in I and II ?

I. "Your final course grade is an A"; "Your final course grade is a B." 

II. "Your final course grade is an A"; "Your final course grade is a Pass."
















Only I is Exhaustive  (1) 
Both are mutually exclusive  (2) 
I is exhaustive and II is mutually exclusive  (3) 
only I is mutually exclusive  (5) 
none of the above  (6) 

End of Block: Block 6
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